+Lo)/2
+0,35

u,=(A - 550) / 50,
log: =-0,35L)\-u ]2
logLo = —0,35)~Us7q
Adaptation: A | =520

570

maximum
log(*m)=-0,35
m=0,44
Schwelle
t4=0,00

uy=(A - 550) / 5
log - =-0,35u)-u ]
logLo=—0,35,~ U570]
Adaptation: A | =520

570

maximum

log(* m)=-0,35)
m=0,44

Schwelle

t4=0,00

Up=(A - 550) / 50

|Og Lg =-0 35[.1)\ U570]
Adaptation: A (=520
570

=( +Lg)2 log: =-0,35L)\-u ]2
=6 +0,35 logLo = —0,35[)~Us7d
1.€a) Boil &) Adaptation: A | =520
370 570
. maxiraum
Schwélle
0,5 t:=0,00
0,04 S T 3 uy

rraAlrnum

Schwelle
t4=0,00

a .
o u)

700 A/nm

u,=(A - 550) / 50,
log: =-0,35L)\-u ]2
logLo = —0,350)~Us7q
Adaptation: A | =520

570

700 A/nm

uy=(\ — 550) / 502
log - =-0,35u)-u ]2
|Og Lg = —0,35[J)\—U570]
Adaptation: A (=520

=( +Lg)2 log: =-0,35L)\-u ]2

=G +0,35 logLo= —0,35U)\~Us7d

. Gyl Lo Adaptation: A | =520
137() 570

u=(A = 550) / 50,

uy=(A - 550)/502
log - =-0,35u)-u ]
logLo=—0,35p, U570]
Adaptation: A (=520

570
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